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Senator EGGLESTON asked: 
 

1. Spending is forecast to be $10.1 billion higher in 10-11 than was thought in the 09-10 
budget.  The expectations for economic growth are higher but government spending has 
increased.  What will this increase likely have on the expectations for interest rates? 

 

Answer:  
• Please see Table 2 Reconciliation of expense estimates on page 6-4 of Budget Paper 

No. 1 2010-11. 

• In both the 2009-10 MYEFO and the 2010-11 Budget: 

– real growth in spending was held to below 2 per cent in years where the economy 
was expected to grow above trend; and 

– all new spending measures were fully offset across the forward estimates (on an 
underlying cash balance basis).  

• The impact of government expenditure on interest rates depends, among other things, on 
the level of spare capacity in the economy.  This is shown on page E26 of the Hansard 
for the Senate Estimates hearing on 2 June 2010: 

Senator JOYCE—I will go back to monetary policy in that case. Is there a trade-off between fiscal 
and monetary policy? 
Dr Gruen—There can be a trade-off, certainly. 
Senator JOYCE—There ‘can be’ or ‘generally is’ a trade off? 
Dr Gruen—Give me a specific example and I will try to deal with it. 
Senator JOYCE—If I jam a heap of money into the economy and stimulate it, will it have 
inflationary pressures? 
Dr Gruen—The answer to that question depends very much on whether there are unemployed 
resources in the economy. If you were to engage in fiscal expansion at full employment then that 
fiscal expansion would be crowded out by a combination of higher exchange rates and higher 
interest rates as applied by the central bank. So if you were to engage in discretionary fiscal stimulus 
at a time of full employment then the implications of that would be that monetary policy would 
likely offset it with higher interest rates. It is worth drawing the distinction. In a situation as we faced 
in late 2008 and 2009, when there was a very substantial retreat in private sector demand, both fiscal 
and monetary policy were acting extremely quickly to try to offset that decline in private sector 
spending, so they were both acting in concert to limit the extent of the economic downturn.  


